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For we maintain X327 737w s by

OVERVIEW
The X773 asked, why is there a 2117 in the mwn, since there was no [mImM 77°PY
"7 01Pnn? 727 answered that the Xin of the 71wn 1s ¥ who maintains that a "7 2pn
is not required (MdoIN assumes that this is all that 727 said).'
To explain s'77127 answer and to show that ¥"7 maintains that a "7 2}pn is not
required, the X 13 cites the nPYomn between 25mM ¥ in a case where "n7n P
YRR "7 °"1%, where ¥ maintains that he is 2n. The reason why he is 2,
the X7m3 says is because he maintains 7% (and the 13127 do not agree with 701%p).
Since ¥"7 maintains 7Y?p it is obvious that a resting place of '3 pn is not
required.
The XM then asks: It appears from s'727 answer that he maintains that the
argument between 025mM ¥"1 is whether or not we say nu17p, but — the X1 asks —
how can we say so, for we know that 7127 was uncertain as to the reason behind
their npYonn; that it may not be regarding nvI7p, but rather whether P 7999
[uRli7atalal
Moo questions the s'8n3 assumption that 727 maintains that the argument
between 0°n2m ¥"1 is confined to whether or not we say n%p and therefore the
ensuing X°¥2 contradicts this. From where did the &7 come to this conclusion,
since 727 never mentioned specifically that the npYonn is regarding 7v9p
exclusively?
MooN presents three interpretations, why the query contradicts the statement of 7727
that X°77 ¥"9 11 X7,

— 11299 1%Y NOIWAT NDMNY 599 INIT PHYS 13399 YD)
The °''9 has a difficulty; why does the X712 ask ‘“do you mean to say that 727
was certain’’ that the np17ma between 2om ¥ is regarding 707p -

— A4 1YY NVIVAT NYD N

Why does the X712 assume that ;7139 was certain that the np>nn between 2°om ¥ is
regarding 7v17p (and only ¥"1 maintains 70127 and not the 0°31)?

! Perhaps 7121 may have also referenced the 7w in P77 but he did not (in N2 view) say the reasons for their
views; that 121 77017p 177K 120 ¥"7 (see 2"n).
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— NP R2P¥PY 229 2310 NN 9INPT OIVN ON
Is it because 7727 said that the Xin of the 71wn is ¥''9, who maintains that a '7 237 is not
required because we say 707p, and therefore the o°non who disagree with ¥"3 do not agree to
nuY2p? However, this is not sufficient proof that 727 maintains that the N2 between 2°nom ¥
is whether or not we say 1%p, for it could well be that both 2°»5m ¥"9 maintain 7017p as 727
suggests in the second option of his query, and the reason 7127 says the 71wn is according to ¥"9
(only, and not the 0°om) -

— 97 ANNNY 30 NVIYP YOI NNPN NPY NN NIPY 23997 DIVN 199N

That is because ¥"1 maintains 827 7m0 923 709 in either of the options that
727 proposed (in the first option, only ¥"J maintains 7Y and in the second option everyone
agrees to uI7p).

— N1 1339 931 RN 919910 281 NN RY 291D NYD RPN 19297 NIYN VAN
However as far as the view of the 3127 is concerned, 727 was in doubt whether
they maintain 7019 (as the query shows), and therefore he could not have said

that the 71wn is in accordance with the 3329. Therefore 727 said the mwn is according to
¥"1, but he did not mean to exclude the possibility that it may also be according to the 2°12n; for
if we were to accept the second option of the query then the o5 will also agree to 7vI?p. 1720
only meant to say that the 71w is certainly according to ¥" who maintains 7019 in either option.

In summation: Moo asks that there is no proof that 727 maintains that the npY?nn is regarding
7v1%p, it could be that the npYonn is whether v wInn P77 11992, but it would make no difference,
because in either case ¥"1 maintains 70?p, and therefore the mwn is (certainly) according to ¥".

mooIn suggests a possible answer to this question;
— Y9 9INPT XD DIINIIN 1390 ON)
And if were to say that that which was said before in the X3, namely -
— 5919 1329) NONT NNNIY 595 NVIYP 130 NIYPY %329

“y''= maintains X7 7R % 7weP and the 1327 ete. maintain that we do not say
709p”, if we were to assume that -

— 929V NN NN NN N9 29271 YO

This entire quote is the words of 727, then all would be well, for then 721 would
have stated explicitly that the npYonn between 2°m5m ¥"3 is concerning 0%p. We would
understand the s'® 3 question that how can 7127 maintain that the np12nn is whether or not we say
nvY2p, when 727 posed a query regarding their npYonn.

mooIn rejects this solution:
— 1129 5937 XY AN PN IN
however it does not appear that this quote are the words of 1729, but rather 727 only
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said that the 71wn is according to ¥"7, who does not require a "7 2p», then the X723, after citing
the nP17nn between 0°om ¥'"1, concluded with their respective opinions on 702p, but 727 himself
merely said that the 71wn is according to ¥"9, and that is not in contradiction to his query, for in
either option of the query, ¥"1 maintains 7101%p. Therefore msoIn original question remains.

nO0IN answers:

— D249 %93 ’¥353 RN IVITD 9DNT PNYY 139249 9IIN)
And the >"1 says that this is the explanation of the s'X7n3 question, ‘but 727 had
a query’ as how to interpret the nP17nn, meaning that 727 was uncertain as to what was the real

reason behind this npY7rn, he did not have a sureness in this matter -

— NN YPIDDY NIINT 11999
So since we are uncertain as to the true nature of their argument, as witnessed by
720 offering two options, (so even though in both these two options ¥"3 maintains 07p,

nevertheless) -
= ANNNY 295 NVITP 1999IN N N1IYY 99195 NNDT »PI190Y 193 NIIN

We may also consider that there may be other options, i.e. perhaps everyone
maintains that we do not say mmIuTR %2 VWP -

— MV NNYY *719Y 1T 115 11
and therefore in a case where the two "7 were one opposite the other on
opposite sides of the 7", then everyone would agree that he is 915, because no
one agrees to 7P, and we cannot derive VWINPT since VWA is also MWD in a case of 7D 7
-

= 139999 XD 920 19291 VIYINN PN 129D 930 NaAPIY 2397 NNN NV MDD »D
They only argue when the two °"777 are in a PR Xwv»7, adjacent to one another,
on the same side of the 7"777, where ¥"1 maintains that we derive ww2nan P97 and
therefore he is 21 and the 3127 maintain that we do not derive vwinn P77 and
therefore he is 75, Here we have an option where no one agrees to 7%, (not even ¥"). This
explains the s'87m3 original assumption that 727 had a definite opinion® as to the nature of the
nponn, i.e. that it depends whether or not we say nv2p, for if 727 would not have a definite

opinion, how can he say that the mwn is ¥"3 who maintains Y7, when there exists the option
that even ¥ disagrees with nuop.

mooIn responds to the anticipated question; why indeed did 727 not mention this [third] option in
his query.

* See X,1% mwn

? That opinion would be that the np12ma between 7327 v" is regarding 7v12p, and therefore 7121 stated that the 73wn is
according to ¥"1, for if 727 assumed that the np1onn is regarding whether v wyan P11 11°97° (and everyone agrees to
muY9p), then 727 would have said the mawn is ¥"132. See “Thinking it over” # 3.
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—‘m99p2: 95 w9 WA XY 1297 NN

However, 727 did not find it necessary to specify all the options; two options were
sufficient to show that he was unsure as to the nature of the npY?nn.

moon offers an additional solution to the initial question:
— V7YUN MNPT RIT PNNY 13229 99N NI

And furthermore says the 3''9; that which the X773 says -
- 19245 139510 NT ANNAY 313 NVIYP 1359NRT 2990 Y1 937 NIYN HVNY Yax

‘But if it was thrown below ten 2°19v in the 7"777 everyone agrees that he is 2°m
because we say R 27 37w %0 quvp’, this understanding that 70177 is the cause
of the 2y applies only to the 7127 -

- DXWYIN P 19T BIYM 25NN T NNNNY 395 INY NVIYP NIYPY 39Y YaN
However according to »'' even though he also agrees that “» [un? p7 is 2m,
however (in this option when he derives vwn p717) he maintains that 7uY9p is not
"7 MR v and Bn VRS P is 2991 because we derive wIRAR P, that just like

VW is M VA2 271 so too is PT. According to the second option of the query, ¥"3 does not
maintain *»7 AN 03 q09p.]

mooIn responds to the anticipated question: this interpretation seems to contradict the plain
reading of the text, "NR°n7 ANAW “nd 0P MR V"M 270 "7 "» Aun? 9aR", which seems to
indicate that everyone maintains 701%p, what is compelling us to accept this new interpretation?!
mooIn explains that according to this option ¥"9 cannot maintain 717p -
— N7 NNMHNY 29D 9320 'NT

For if v"1 would maintain that 7019 is X7 739772 922 then we would not understand
s'v" opinion in their "» 7912 NP12nn where Y"1 maintains he is 21 since WWAR P %09, This
presents a difficulty; for if ¥"9 would maintain 709p -

N1 NNAY 157 192947 95 NINT RY NNT VIWIINN PN 99190 '8N0 N XD
He would not have been able to derive wwnn P97, for P77 and vwn are totally
incompatible to each other, for since we maintain that 7097 is as if it is resting in
the airspace, then the case where their np17r% is, namely -

* See “Thinking it over’ # 4

> According to this interpretation the s'x 3 reply, 012p ¥'"1 7207 7°% RLWHK 177 WKRT N3, is more readily
understood than according to the other interpretation(s) (see w°X nrn).

® The 1w> MPOIN here comments: X"T P "R 1INK A1 KPR RT PAATY KIR XNT IANAY "R 0P R K97 AN 71K
72 nnown 2% 1"'112. “And this is no proof, for the rule of X7 annAw "»3 VPP is used only to be more stringent (and
not for leniency), for if Y9 can be utilized X7 as well, then how is it possible for one to be [2n for] throwing '7
NMR in a 2" (since [on account of 7VPP] it is continuously at rest).” See (however) 2,88 1mpP% R"v1 1 who explains
'DIN7 YW that by a WD Q1PN we say KIPH T0Ip.
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— 371149 M0 DIPNMI NNV DIPNY 27091 PN [HIVYN NHYND PIIN] "N
When [he is throwing above ten 2°150 from the 7"77], that would be comparable
as if he is throwing from a >"77 to a "1wp 2P» and from a =we 21pP» to a >''"".
When the object he is throwing passes the 2"717 it is "» 799, which is a " 2¥pn, therefore if
we say nu1?p, then when the object is traveling over the 1"717 it is 7V1?P in a MWD P, it turns out

then that it rested in a 7105 2P while traveling from one >"717 to the other.
- YSNPND 1779 37097 37090 NONY VYWY H 1T XY

And this type of P77 is altogether not similar to v*v», which is from a ''7719 to a
>"'719 with a 9''719 in between, because by vw he is holding the object in his hand, where
the concept of 2P is not applicable®, so we consider that he is passing it over the 1"7,

however by P17 where 1P is applicable it is resting in a w5 0p» and it is unlike VW, Based
on the above -

— 527 ANNAY 315 INY HVIYP 130 VIVIM P 135995 9207 113 TN Y NN

We are compelled to say that since ¥"7 maintains that we derive ©wyan pay

meaning that they are similar, therefore ¥"2 maintains that 77w %2 XY TUHR

27, and therefore P17 is similar to v, for we do not consider that it rested in a Mwd QPn, but
rather that it passed over a 7"717 just like vwn -

— 99915 YD RVIVWOT NI1IIY 7599 999V NN NOHVYN)

and now it is well understood what the X712 asks ‘Do we mean to say that it was

certain to 717, etc. that ¥" maintains 7%p’, for according to the second option that ¥"3

derives "n n2yn? v P he cannot agree to 0P, Therefore since 727 said the mawn is
according to ¥"9, he must agree that their 1211 is concerning 7Y7p (as in the first option).

mooIn digresses to address an issue discussed in a previous moomn:’
— D299 91520 810 RIT 929V 3133 INN)

And this will also explain why 727 could not have said previously in the first
option -

= VIYINN PN 1929957 29N DN 9927 79 NYYNY HaN
However above ten o°115v all agree that he is 2v917, for we derive ¥R P97 but
instead said that v wwan pr 1070 K97 w9 7"7 “n 75919, The reason why he did not say it is
because -

— N ANNNVY 393 1207 113 9910Y s8I RY NYPY Y2954
According to ¥"1 we cannot derive 02121 pI1T since Y'Y maintains in the first
option that a7 73372 525 7VI7P, and therefore P77 is not similar to wown.

7 The area above a 1"717 is considered a 2"777 up to ten oY, above ten 0°ndY from the ground level it is a Mo Dp».
¥ See previous 1un? a8 71"7 ‘01N
? See previous 9y 2ax 7"7 '0n TIE footnote # 10.
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mooIn attempts to prove this point:
— NR2DT D29 992 (x,) PN 22) Y¥2 RTON 29 RNT NSP yNYN 129
And there is also a partial indication that this is so, i.e. that the reason that P37
" un? is 20 is because of nvYPp, that is only according to the 1327, but not
according to ¥"9, for XTo1 239 in P97 PO poses the same query as 7727 asks
here'® i.c. what is the reason behind the np17nn between 2oMmM v -
— N2PY 297N ) ONP NINIT NNNNIY 15 AVIYP 001N NPT NN IN)
And if that which the query concludes that everyone maintains fmINTR 123 T017p
N7 refers to v'1 as well, that he too maintains 7017p -
— N7 ANNNY 99 NNDY 2957 XTON 29D 9199199 810 99N

How can we say that according to X707 27 everyone without exception maintains
TnNAW 1D 7v17R, which would also mean that everyone maintains that a '7 2)p» is not required for
aanaa -
— YIYUN (0 97 P92 1P
When later in our P79 it seems -
— NYAIN DIPN 22X Y NN RTON 29 'Y XY NN NIV NPITT
That according to X7on 29, only in a >";17 is a '7 217% not required for a ''sm3m,
but in a 7"77 a "7 01pn is required, and how will that be reconciled with what X701 27 said (as well
as 1727) that everyone maintains 70127 in a 7"777, meaning that a '7 0)p» is not required. Therefore

we must say that even though 73127 ¥"1 may both agree that 2>°17 7"7 " 70nY, but it is for different
reasons; for the 0121 because of 70127 and for ¥"1 because VWM PNT 11009, just like n 77915,

mooIn qualifies this proof:
277 ©YPN NTON 29 593 XY 02290 MY X THND Y59 DA 13 PUNY 13539 1759)

However the ''awn explains shortly'? that X701 31 does not require a 3"y 717

'7 2?1 even in a 1''719. Therefore X701 27 can say that everyone maintains 7017p and a 21
"7 is never required. Hence this last proof is invalid.

SUMMARY
moon offers three explanations why the X713 assumed that 77127 is of the opinion
that the np17n between 05 v"7 is whether or not we say 7017p.

10 The xm3 there states the XWX of 737 exactly as in our X7, then the X3 concludes that 101 27 said that this
X°y2°X was (also) asked by X701 27 (without going into the details) etc. vy

' X701 27 states on 2,7 97 that if one stuck a pole in a >"717 and someone threw an object from a 7"717 and it landed on
top of the pole, even if the pole is one hundred n1X high, the P77 is 2>°1. From here we see that according to X701 27
a7 0pn 2"y anaa is not required in a °"77 (for the pole is not a '7 03pn). From the ensuing X101 R7pw of the Xny it
seems, according to some 2°w197, that in a 7"77 a "7 21 A"V 7017 is required.

12 See 1°%2 11"7 2,7 'oN
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1. 727 said so explicitly in our X"

2. 727 must be certain of the reason behind the np19nn to state that the mawn is v
and not the 7127, for if 727 was not certain, then there is a third option, in which no
one maintains 7Y?p (option proposed by nvoIN), so therefore if 7127 says that the
mwn is ¥"7 (and not the 2°»21) he must have decided on the option that only ¥
maintains 709p.

3. The two concepts mv?p and vwwwan P 199 contradict each other. If we
maintain 709 then we cannot derive "n 77va% WA PI. Because 70177 would
make the object at rest in a Mwd DPn as opposed to v’ in which the object is
over the 1"717 7K. Since in option two ¥"1 maintains WA PNT 13°92°, obviously
¥"9 cannot agree to 719p. "

THINKING IT OVER
1. What are the different ways of understanding the query (X°¥2°X) of 77127 according
to the different explanations of NMoo1N?

2. What are the stronger and weaker points of each of m501n explanations?

3. The first answer of the >"1 is that the s'X713 question is that there is a third option
in which no one maintains 7019p."” However that seemingly does not explain the
Xwp on 1727. It is possible to say that 727 did not entertain this third option because
(otherwise) who would be the Xin of our mawn!'e

4. According to the first answer that there can be more options,'’ then what was
mooIN proof previously'® that wwin is »n 7un% 27n, since 727 did not say 75vn Hax

"> mpon is reluctant to accept this approach, since it is highly unlikely.

' There is a difference in the nature of the s'X73 question 121 X »'n2, depending on these three different
explanations. According to explanation #1, the X7mx accepts that the 71wn is ¥"7 because he certainly maintains
TP, the X123 is just questioning why 7127 said that the npy»mz is about %P, when 727 should have just said that
¥''"Y maintains 70Y2p. It is merely a question of wording, not related to the basic issue. According to the other two
explanations however, the X3 does not accept that ¥"3 must maintain 7vY9p, and therefore we may have no
explanation for our 71wn. More specifically; according to explanation #2, the X713 suggests that there is a possibility
that 727 agrees that ¥"1 may reject n2p. According to explanation #3 the X713 insists that according to the second
option of 727, that ¥" certainly rejects 7017p.

'3 See footnote # 3.

16 See [1x7] X"wAAn.

7 See footnote # 4.

18 759 Har 1"72 (see there footnote # 14).
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"21 211 11"7 "n. Perhaps he did not say it because as Mo states here wn X? 7277
nryan 9o winh?!Y

5. Does 7 annaw ond 709 mean that the object is considered at rest: a) in the
airspace where it travels or b) on the ground directly below it? Explain.”

6 Why does the "1 say 78w *nX Xnwi, after his second ", not after his first?

7. To what degree did 727 change his opinion about s'v"9 position on 701%p after he
was vw19 the query, from before he was vwI®.

1 See onow pnn.
2 See (also) X3 MK HR™X NI,
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